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- B §t| 185,708 | 102.49 - B &t 36.318 1 100.67 - B & 17.39 99.89 - B &t 29,4001 101.94
- | BT ¥ §| 189,093 | 102.42 - | BT # §| 36.957 | 100.60 - | BT # §f[ 17.46 99.94 - | BT # §| 29,309 | 101.88
- | & F 55,987 | 113.04 - | & & 11.806 | 109.84 - | & & 9.62 94.41 - | & % 49,277 | 108.96
18 | K 4 | 179,910 ; 103.89 16 | K 4 | 34912 100.89 9 [K & w1 17.33; 100.12 10 |K 5 | 29,737 102.87
17 A BF w| 182,477 | 101.80 17 |3 B | 34.360 99.91 2 |A FF | 1819 ] 101.28 12 |A A | 29,196 | 100.62
11 |% & | 192,019 103.51 14 | & w| 37116 102.91 4 & # w| 1809 100.06 15 |f & | 28,606 100.57
16 |BH M | 183538 | 101.75 12 |B B | 37586 101.98 3 (B B W 1810 100.22 18 (B H | 26,972 99.53
10 |¥%& {8 | 192,428 | 111.34 10 | {8 | 38.0401 107.39 13 [f& B | 1691 98.31 9 |[#& M8 W 29918 10545
1 | # | 237,688 107.86 1 | # | 45365, 104.39 5 |3 # | 18.02 97.88 13 | # | 29078 105.58
4 |Z AR M| 214441 97.33 5 | AR M 40299 99.55 14 |2 A RM| 1675] 100.30 5 | ARl 31765 97.47
9 | B T 196,585 97.59 4 ¥ B | 42054 94.30 10 |7 B | 17171 10275 16 |ff B | 27223 100.68
15 |2#% &AM 184,139 1 100.91 11 |2#% %A 37886 101.60 6 |Z2#%=mHEM| 18.00 99.17 17 |2 &AW 27,003 100.13
5 [# & | 202022 99.94 8 | #F | 38554 102.14 15 [#% &£ M| 16.68 97.09 7 |#% F W 31,410 100.79
12 |F & | 189,927 94.41 7 |F & ™| 39.201 93.40 7 |F & W 1797 100.96 19 | & w| 26959 100.10
3 |tE & #f| 215867 109.43 3 |% & #f| 43786 108.83 1 B & #| 1922 98.01 20 |}E & #f| 25645 10256
14 |B & H®r| 184,203 93.99 18 |B i H| 34.121 94.38 12 |B H HE| 1694 98.83 4 |B H HE[ 31,8641 100.75
7 [ E HEr| 197,758 1 110.71 9 [n = H#r| 38166, 106.26 18 [n EF HE| 16.17 99.88 3 [n E HT| 32,049, 104.32
6 | Kk HE[ 199,229 91.46 6 |® *k Hr| 39.634 90.82 8 |:& %k Hr| 1751 99.04 14 | ¥k HEI[ 28,708 | 101.68
2 [2&XEHH| 216,278 98.90 2 |2®BRAEW| 44016 97.41 16 |Z2&AFM| 16.55 99.94 11 |S®XFM| 29,691 | 101.62
13 |#B # | 187,249 | 106.55 15 |# # | 36.106| 104.33 17 |A # M| 16.33 99.88 6 |B M | 31,755] 102.26
8 |E = | 197,650 95.73 13 |E =® | 37535 97.10 11 |[E = W[ 1715 99.48 8 |E = | 30,702 99.08
20 | B E M| 54,700 110.75 19 |8 % = B 11.925 1 109.67 19 |8 1 E | 10.55 90.95 2 |&®| % E AR 43474] 111.04
19 |E B[ 57,081 | 114.99 20 |E Bl 11.704 | 109.97 20 |E B 8.82 98.11 1 |E B[ 55290 | 106.64
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we |mes| san | V| | me (mre s S| ML me (mmEal g | PEE | | R (RBRE S Ban | MEE
(M) (%) (%) (%) () (%) (M) (%)
- B &t 138,419 1 101.47 - |8 & 887.357 | 100.72 - B Bl 1.57 99.37 - |8 Bl 9,963 ! 101.85
- | BT # & 140,166 | 101.40 - | BT ¥t §| 894.883 | 100.69 - | BT # &t 1.57 98.74 - | BT # &t 9,983 | 101.79
- | & F 71,470 | 107.09 - |# & &f| 5989431 102.18 - | & % 1.38 98.57 - |8 & F 8,675 106.82
7 |K % )| 143,066 | 100.99 12 | K 4 | 892949 ; 100.91 7 | K & ™ 1.57 99.37 8 | K & 10,210 ; 100.95
17 |A B | 127,179 101.13 18 |Al A | 820.238 99.54 3 |3 A 1.61 98.77 13 |3 B 9,625 ;1 103.01
9 [+ & | 142,755 101.50 11 |# & | 908.144 | 100.17 1 [+ & W 1.67 99.40 18 [ =# 9,396 | 101.51
13 |8 M | 139,631 105.71 10 |B H | 909926 | 102.24 4 (B B ™ 1.59 99.38 13 |B B ™ 9,625 ; 103.67
16 [f& {8 | 134,327 99.29 16 |[#& {8 7| 860.365 99.64 11 | B ™ 1.52 97.44 7 £ B W 10,265 | 102.08
14 |B3 # | 139,623 97.93 2 |B3 # | 998988 97.50 16 | # 1.48 96.10 16 |3 # 9,463 | 104.59
1 |#® A R | 156,559 100.19 1 [# X R | 1066.274 | 101.33 10 [EFARM 1.53 98.08 15 EFARM 9,686 i 100.42
3 [ B W 150,712 100.39 14 | B | 873594 100.92 2 | B ™ 1.66 99.40 5 |fr B | 10409 100.00
18 |2 =MW 124,405 10245 17 |2#&5HMEt| 852913 100.08 9 |BREHEM 1.55 99.36 17 |2&&sHM 9,414 ; 103.04
15 |# % | 137,050 | 105.08 15 |#F Z£ | 863.775 | 10145 11 | £ W 1.52 98.06 4 [#% & | 10431 ] 10537
12 |3 & | 139,728 1 102.25 8 [ fk 1| 913.088! 101.55 4 |F & ™ 1.59 99.38 12 |[F & 9,646 | 101.47
2 |t & #f| 156,077 | 105.39 13 |%E & #f| 889.306 | 103.02 18 |tE & # 145 102.84 1 [ & #| 12,137 100.01
10 |B & H®r| 141,329 95.49 9 (B & H#r| 911.011 1 100.19 16 |B & Hr 1.48 98.67 2 (B H H 10,501 96.57
8 [n E H#r| 143,057 | 112.77 7 [n E HET| 913.203 ] 104.63 11 | & M 1.52 1 100.66 6 [ E Hr| 10,282) 106.98
4 [ H% HT| 148501 98.46 3 [ Tk Hr| 947.815] 102.48 4 ;A ¥ H 1.59 1 100.63 11 |} % W 9,871 95.55
5 |2#%KXEmd| 146,200 | 104.08 5 |S®AEM| 924750 1 100.90 14 |2 XFHH 1.51 98.05 3 |2®&AFM| 104551 104.77
6 |Mm # 71| 145233 | 103.89 6 |B f | 914755, 101.83 7 |B @ oW 1.57 i 100.00 9 |l @ ™ 10,109 | 102.21
11 |E ® | 140,648 | 100.86 4 [E = | 942424 | 10099 15 |[B ® W 1.50 98.04 10 |B ® 9,946 | 101.87
19 |88 ® E B8 74,120 112.00 19 |88 & = B0 622438 102.16 19 |8 % = B 1.38 99.28 20 (& ® =60 8,629 i 110.46
20 [E Bl 69,217 | 103.00 20 [E Bf| 578.966 | 102.10 20 [E B 1.37 97.16 19 [E B 8,718 i 103.87
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34. —RBRERE—BLYDERE
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ok L R — 557 = ONTrry
we |mes| san | V| | me (mre s S| ML me (mmEal g | PEE | | R (RBRE S Ban | MEE
(M) (%) (%) (%) () (%) (M) (%)
- B Et| 22,1451 10219 - |8 & 154.966 | 103.17 - B &t 2.07 97.64 - |8 Bl 6,905 ! 101.42
- | BT ¥ §| 22,368 | 102.36 - |t BT #t & 155.657 ; 103.29 - | BT # &t 2.08 97.65 - | BT # &t 6,912 ; 101.47
- | & F 13,607 92.17 - [#8 & &f[ 128487 97.71 - | & % 1.64 95.91 - |8 & F 6,474 98.52
3 [K & | 23278, 104.18 4 |X %4 | 165.077; 104.21 14 |XK & ™ 2.03 97.60 10 [K & 6,948 ;. 102.34
13 |3 B | 20,952 97.12 11 (B B | 142776 1 102.72 10 |3 & 2.10 95.02 9 |A K 6,978 99.39
2 [+ & W 23396, 101.15 3 [+ & 71| 169429 10233 9 | &E W 214 96.83 19 [ =# 6,450 | 102.07
9 |B B m| 22095 10584 7 (B B | 154462 105.13 6 [ B ™ 2.19 98.21 17 |B B ™ 6,521 ; 102.35
7 |8 {8 | 22959 104.95 2 |8 {8 w1 174.155] 103.60 18 |[#£ B ™ 1.83 99.46 6 £ B8 ™ 7,207 1 102.10
1 |3 # | 24136 10259 1 [ # | 180.375; 101.88 17 | #% 2.01 99.01 14 | # ™ 6,656 ; 101.87
5 | A R 23124] 10743 10 [ X R | 142997 103.28 1T |EFARM 2431 101.67 13 EFARM 6,664 i 102.57
17 |fr B | 18,712 99.48 19 [ B 7| 124716, 103.08 15 |ff B ™ 202 98.06 4 | B ™ 7,429 98.57
4 (B#EHEMT| 23273 99.65 16 |[S2#&=HEM| 129.254 ¢ 101.11 3 |B&REHEM 2.35 94.76 1 |2&&sHEM 7,664 ; 103.96
15 |# & M| 19929 93.94 18 |#F £ 1| 125165 ] 102.19 2 [ & W 2.41 96.02 15 |4 £ @ 6,617 96.01
16 |F & ™ 19,524 97.06 14 [F & | 132.696 98.39 8 | & ™ 217 98.64 12 |[F & 6,796 | 100.18
14 |1 & #f| 20639 95.55 13 |#E & #f| 134.827 96.45 13 |t & # 205 10049 3 [l & # 7,458 98.25
11 |8 & HEr| 21,4641 101.70 15 |B i HEr| 1325231 100.63 5 (B & H#r 2.24 1 100.00 5 (B W H#r 7,230 i 100.92
18 |iL & Hr| 18229 ! 100.55 17 | & HE1| 128.180 98.45 11 | & M 208 97.20 11 | & W 6,824 ; 104.90
10 |}X ¥ HET| 21,908 104.06 12 |} ¥ HE7| 142073 | 102.63 7 | K HT 2.18 97.76 8 | ¥ 7,062 i 103.41
8 |B#&KXEmW| 22645] 102.05 8 |B#%XEmm| 149488 | 105.60 15 |[E2&XFHH 2.02 95.73 2 |2BRXAE® 7,484 1 100.78
6 |B # w1 23,098 104.64 6 |B f | 154.781 | 106.68 11 | # W 2.08 | 100.00 7 |\ @ oW 7,186 98.12
12 |E ®| | 21,462 104.08 9 |E X | 145596 101.38 4 |E ® 2277 100.44 18 |B ® 6,482 1 101.92
20 | R E M 8,524 80.93 20 |t Bl EE B[ 92.543 91.19 20 | R E & 1.50 94.94 20 (& ® =60 6,154 93.84
19 |E Bl 17,929 98.15 5 [E Bf| 159.050 | 101.72 19 [E il 1.70 95.51 16 |E B 6,612 ; 100.53
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we |®mEa| oan | M| | e |gese M| T e | a| | | | A (RmES B | MEH
@] (%) (%) (%) (B (%) (] (%)
- B &t 460,614 | 101.24 - |8 §1)1,418.988 | 99.68 - |8 &t 210§ 99.06 - |8 &t 15,480 | 102.53
- | BT #F E| 461,324 | 101.26 - | BT #F Ft[1,420943 ] 99.69 - | BT & &t 210} 99.06 - | BT #F &t 15,471 | 102.50
- |#8 & & 332655 97.94 - |# & &|1,066.569 | 100.40 - | & F 1.74 1 90.16 - |8 & i 17,941 | 108.31
4 |K & | 469,621 102.36 5 [K 4% [1,443455 ] 99.97 9 | K & 2081 99.52 10 [K &2 15,626 i 103.01
10 |Al FF 7| 457,601 | 101.11 6 |A AmF T7h|1,440.809 | 98.74 8 |A W 2101 99.06 16 (A HFF | 151401 103.72
11 | & | 452,292 98.36 7 |+ =F [1,429598 | 99.59 4 [ F W 218 1 99.09 20 | # 14,504 i 99.51
3 |B B | 473,151 100.37 4 (B M@ |1464.698 | 100.99 2 [B B ™ 2.20 | 100.00 18 (B B | 14698 9965
12 | 18 7| 451,894 106.12 12 |8 {8 T([1,369.687 99.17 11 |8 B ™ 2.05; 100.00 7 £ B W 16,066 ; 106.90
7 |A # Ti| 465,753 | 105.51 1 | # w|15374021 9728 17 | # 198 | 9851 14 [ # | 15316 110.23
8 | A R | 463319 101.34 2 | X R 1510051 | 100.25 14 |2 AR 2037 99.51 15 AR M 15,151 | 101.64
2 |fr B | 485317 | 101.76 15 [ B ™|1,321.128 | 100.92 1 | B ™ 2.30 ; 100.00 8 | M| | 15949 | 10058
18 |2#&=HE™| 417,250 | 103.35 17 |2#% 5 HT™|1,308.736 | 98.63 6 |2®REHEM 2151 99.54 17 |2%&SHEM 14,836 | 105.46
6 | F | 466,615] 102.59 16 [# & ™[1,315493 ' 100.35 7 | E W 2121 98.15 4 (% F | 16715] 104.29
17 |3 & | 427,767 94.70 14 |3 & 71)1,336.225] 99.09 4 [F k& ™ 218 96.89 19 [ #& 14,664 ;| 98.30
14 |18 & #| 446,910 101.74 18 (88 & #[1,284.383 10153 14 |lE & # 2.03 | 101.00 3 |t & #| 17,162 9947
13 |8 W HT| 447,761 96.25 11 |8 W Hr|1,380.573 | 9897 18 |8 W HT 1.96 1 98.00 6 (B H H 16,579 ; 99.48
15 |h E HT| 446,577 | 102.77 8 [ E 14221521 101.26 16 | E H#r 1991 9851 9 [n E HEf 15801 102.94
1 |} %k HT| 499,822 1 93.60 3 [ K HEI[1,476.784 1 99.29 3 | K H 219 9733 13 [ % H 15,447 96.90
5 |2®KFm| 469,317 | 101.46 13 [B&KE™|1,369.679 | 100.42 11 |2&RAHFH 205 98.09 5 |2%&X%m| 16,699 102.76
9 |B % | 458,644 102.05 9 |B “ T7i|1,409.002  101.68 9 |l # 208 1 99.52 11 |B # 15,616 | 100.46
16 |E = 1| 445770 | 96.45 10 [E 3 |1,404497 | 99.22 11 |B ® 205 98.09 12 |E ® | 15478 98.98
19 |88 % = Bf| 353,130 | 84.54 19 |88 ® = &f|1,152.069 | 94.11 19 |& % = & 1.771 84.69 2 |& ® E AW 17,293 | 105.74
20 [E | 317,623 | 112.70 20 [E ff| 1,003.797 | 106.51 20 [E B 1.71 96.07 1 |E Bl 18,507 | 110.15
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39. FiYiEEE — ALV ERE

40. FiiSEHERZZE

41. gifiEEmE —HS-U A

42 HifiEEE— B AU ERE

(ABD) (ABR) i (AB) e (AB)
A | Xz - Z =Ty

we |®mEa| oan | M| | e |gese M| T e | a| | | | A (RmES B | MEH
@] (%) (%) (%) (B (%) (] (%)

- B &t 247,674 | 101.82 - |8 &t 46.582 | 100.13 - |8 & 16.06 | 100.00 - |8 &t 33,113 | 101.73
- | BT #F E| 248,125 101.87 - | BT # &| 46.687 | 100.18 - | BT & E| 16.07 1 99.94 - | BT # &| 33,062 | 101.68
- |#8 & & 166411 94.72 - [ & & 27.591 88.97 - |# & & 10.69 | 87.84 - |8 & i 56,404 | 121.21
10 | K 4 | 247,378 | 104.55 12 |K %4 | 45776 101.20 8 [XK 4 | 16.20 100.06 13 [K % | 33359 103.28
12 |3 K | 243951 102.53 14 |3 K | 45.260 | 100.27 10 |3 K | 16.12 | 102.22 12 |3 RFF | 33,439 100.05
16 | =& 1| 237401 96.39 16 | & | 44.051 99.92 4 [ F | 1659 9840 14 [ # ™| 32485 98.04
5 [B @B | 255592 97.34 4 |B B T 50517, 9825 2 |B B T 17.36] 101.70 20 |B H w| 29,138 9740
6 [ {8 | 255056 110.88 8 [t 18 | 47140, 106.23 9 |8 {8 | 1618 97.71 11 [#& {8 | 33442 106.85
3 | # | 261,885 110.96 5 | # | 49.669 | 107.81 14 | # | 1520 9825 8 | # | 34692 104.77
8 | A R | 253980 101.84 15 [ A R | 452301 99.19 15 [/ A &R ™| 1505 101.14 4 & A R | 37302 101.52
1 |7 B | 272,772 103.49 1 |7 B | 55671 99.28 6 |fr B | 1635 103.88 18 |71 B | 29969 100.39
15 |2#&5SHE™| 237552 105.73 9 |Z2#%mHMEM| 46318 104.32 5 |2®&EsHEM| 1652] 97.69 17 |2#% 5@ 31,052 103.80
4 |¥% FE | 260,059 101.60 6 |# F | 47337 103.13 12 |#% % | 1548] 98.22 6 |[# % | 35488 100.31
18 | & | 232550 89.19 7 |= {& | 47260 90.06 3 | & | 1677 100.36 19 |F & | 29,347 98.67
14 |1 & #t| 242,080 | 102.00 17 |98 & #| 42821 ] 101.80 1 |8 & #| 17.71] 10517 16 |2 & #f| 31,929 9532
17 |8 W Hr| 233,118 9535 18 |B W HT| 41180 94.96 17 |8 W HT| 1459 96.69 3 (B H HE 38812 103.86
9 [n E HE| 250534 103.43 11 | E H1| 46.033] 96.72 16 |7 E HT| 14781 9743 5 [n E HE[ 36824 109.76
2 [ ¥ HE7| 267,303 87.78 2 [ ¥ HE[ 51293 87.94 7 | ¥ HT| 16.21 | 100.31 15 [ %k HE7[ 32,153 99.50
7 |2® K| 254,711 | 100.38 3 |E®&KXF| 51.047] 97.27 18 |S2®&XAHM| 1416 ] 101.22 7 |Z2®KXFH[ 35239 101.95
13 |B @ | 242,675 101.87 10 (B # | 46.278 10262 13 |m # | 1528] 9941 10 [A @ | 34317 99.82
11 |E = 7| 244,872 95.39 13 |E 3 71| 45386 ] 99.22 11 |B =3 | 1561 100.52 9 |[E =® | 34573] 95.66
20 |®= ® E BB 160,000 | 69.65 19 | % = BF| 29.310 | 78.06 19 |& % = B 1360, 8437 2 (& % BE B[ 40,138 | 105.74
19 |E Bfi| 171,119 1 126.16 20 [E B[ 26.329 | 100.60 20 [E B 8.32 1 104.26 1 |E B[ 78,141 | 120.30
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45. gifiEEHE—HS-YVBAH

46. BIfiEEHE—B AU ERE

(ABESH) (ABESH) i (ABESY) e (ABESH)
A | Xz - Z =Ty

we |®mEa| oan | M| | e |gese M| T e | a| | | | A (RmES B | MEH
@] (%) (%) (%) (B (%) (] (%)
- B &t 185,106 | 100.44 - B 511 1,185.143 | 99.30 - |8 &t 1547 9872 - B Et| 10,123 | 102.44
- |# BT #f &| 185298 1 100.44 - | BT #F 3t[1,186.779 | 99.30 - | BT & &t 1541 98.72 - | BT #F &t 10,117 | 102.43
- |¥#8 & &| 150469 | 102.89 - |# & &| 890.219 | 103.04 - |# & & 1467 9542 - |8 & i 11,538 | 104.35
2 |[K & | 192,862 99.52 7 |K & |1,194.751 9947 8 | K » 1541 98.72 7 |XK 5 W 10,468 | 101.06
10 | K | 184,070 99.76 6 | B Th|1,201.475] 98.13 7 B /o™ 1551 9748 12 |3 R 9,857 | 104.23
9 [+ =& | 186,034 100.53 10 |& & 1)1,183.197 99.03 1 | &F 1.64 i 100.00 16 [ 2F ™ 9,581 | 101.74
3 (B @ T 191,185 104.15 4 (B @B ™|1239.371 | 100.82 4 |B B W™ 1.57 | 100.00 14 |B B ™ 9,818 1 103.16
18 |#%& {8 1| 168,892 ; 100.01 16 | {8 #1|1,116.252; 98.13 14 |8 B ™ 1497 98.03 9 £ B 10,123 ; 103.43
14 | # | 175557 | 99.47 2 | # 1276972 96.59 18 | # 1467 9542 18 | # 9,447 | 108.36
11 [#= XA R ™| 182,174 | 100.02 1 [# X R ™|1,304.387 | 100.10 10 AR 1.51 98.69 19 |FARM 9,224 | 101.30
4 [ B | 190,557 99.93 14 |fr B ™|1,125437 | 100.67 1 | B ™ 1.64 | 100.00 8 | M| | 10344 99.67
19 |2#&5SHE™| 150531 101.16 17 |2#®SHBEM[1,111.336 ] 9854 9 |BREHEM 1521 99.35 20 [2&EsHEM 8,934 | 103.67
12 |#% % | 180,955 ] 105.03 15 [#% & w[1,119444 9987 10 |[#% & ™ 1.51 97.42 6 [# £ | 10711 108.32
17 |3 & | 171,838 102.83 13 | & |1,139.254 | 99.70 4 [F k& ™ 1.57 1 99.37 15 [F #& 9,612 103.75
13 |8 & #f| 179,626 | 101.93 18 [8&8 & #[1,077.078  101.73 20 |8 B # 1401 9929 2 |8 & #| 11917 101.24
6 (B & HEy| 188,443 96.87 11 |8 W Hr|1,177.808 | 98.72 16 |8 W HT 1477 99.32 4 (B & M 10,894 ; 99.05
16 |- E H| 174,636 | 102.58 5 [n E H[1,233.386 | 102.01 14 | E H#r 1.49 1 100.68 17 | E Hr 9,486 | 99.61
1 |} %%k Hr| 205,643 100.13 3 [ K HE[1,269.493 ] 99.74 3 | K H 1.61 1 100.63 11 (R % H 10,069 | 99.85
5 |2#%X%d| 188473 | 103.57 12 [B&KXE™|1,147.991 | 100.28 10 |2&RAHH 1.51 98.69 5 |2%X%M| 10847 104.64
7 |B @ Wi 187,335 102.22 9 |@B  T71|1,186.431 | 101.10 6 |l 1 1.56 1 99.36 10 | # 10,119 | 101.60
15 |BE = | 175345 9757 8 |E = 1[1,189.290 99.39 13 |B ® 150 96.77 13 |B ® 9,845 | 101.38
8 |[&& ® E B[ 186,799 | 106.03 19 |88 ® = &f|1,061.034 | 97.95 18 |& % = &b 146 1 96.05 1 |8 & =& 12,060 | 112.89
20 [E Bl 123,797 | 99.78 20 [E | 764.810 | 109.04 16 [E B 1471 9545 3 [E B 11,011 95.91
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47. AifiEHnE - ASYZRE 48. BB AP R 49. pifiEEmE —Ha-YBH 50. AifimEmE — AL -UDRE
(B ) (B ()
mry] gpE | —RSE —B&fY| o
R |RBE S| pEE | | aw | grE s (DAY TFE L e emEa| gy | POC| | R (RmEs| pam | P
(=) (%) (%) (%) (B (%) (F) (%)
- B & 27,834 | 101.39 - B 5| 187.263 | 102.03 - |8 &t 2131 97.26 - |8 it 6,976 | 101.94
- | BT & &| 27,901 101.45 - | BT #F &| 187.477 ] 102.10 - | HT # &t 2131 97.26 - | HT # &t 6,979 | 101.87
- |# & & 15,775 | 88.99 - |# & &| 148759 | 88.86 - |# & & 1.71 81.82 - [ & & 6,185 | 122.23
2 |K & | 29381 103.45 4 |X & | 202929 102.72 13 | K & 208 97.65 10 [K &2 6,972 | 103.40
1 [B FF | 29579 98.23 6 |A & | 194.073 ] 102.29 10 |3l K T 2191 9522 11 [B K 6,952 | 100.97
4 [+ E | 28856, 101.36 5 | & | 202350  102.85 9 | & 2207 96.92 19 [ &F ™ 6,470 | 101.46
10 |B HB | 26374 104.39 8 (A mM| | 174809 | 103.09 7 |1B H m™ 2261 98.26 16 |B B ™ 6,683 | 103.07
7 |48 B | 27947 103.79 3 |[t& {8 | 206.295; 103.53 18 [ B ™ 1.85 ] 9893 7 £ B W 7,319 { 101.39
6 |E3 # | 28310] 97.81 2 |B8 # | 210.761 99.33 17 |B # 203 98.07 17 |8 # 6,620 | 100.62
8 | XA R | 27,165] 10591 13 |i# A R | 160434 ] 101.79 1T EART 251 102.03 14 |FARM 6,795 | 102.16
18 |7 B | 21987 97.03 19 |7 B | 140.019 | 103.58 14 | B 207 9764 2 | B @ 7570 ;1 9594
3 |2#mmA™| 29,167 96.39 15 |[B2#&SHEM| 151.083 1 97.62 3 [BksHEM 2401 94.86 1 |2®&sHET 8,045 | 104.29
13 [# & | 25601 96.25 17 [#% & | 148711 103.18 2 | & W 2481 96.12 13 | & ™ 6,931 96.88
16 |+ & | 23379 97.96 16 [F & | 149.711 97.60 8 | #® 225 99.12 12 [ #& 6,936 | 101.09
15 |88 & #f| 25203 97.99 11 [ & #| 164484 100.12 15 |88 & # 206 1 99.52 5 |l & # 74451 9856
11 |8 H Hf| 26,200 | 100.06 12 |8 W Hr| 161.585  101.96 6 (A & M 229 98.28 8 (B W M 7,073} 99.58
19 | E H#| 21,407 97.10 18 | E HT| 142734 | 96.60 12 | E M 2141 98.62 9 | F H 7,018 | 102.23
9 |® ¥ HEI| 26876 111.53 14 [ %%k Hr| 155.998 | 99.88 4 | T HT 232 97.89 6 [ K H 7,423 1 114.20
12 |2%&KXHH| 26,134 97.39 S®KEHMH| 170641 | 102.33 16 |2&RAHH 205 95.79 4 |2BRKRKHH 7466 | 99.22
5 |B # | 28634 102.39 B f | 176.294 ] 105.45 11 || & 2.15 1 100.47 3 |m @ 7,563 ] 96.97
14 |E = | 25553 ] 99.27 10 |E ® | 169.821 98.06 5 |[B ® ™ 2.30 { 100.88 18 [E X 6,540 | 100.26
20 |t ® E AR 6,332 | 53.68 20 & 7 B Bl 61.724 | 59.73 20 |t ® E AW 1531 5276 15 |8 & = B 6,701 | 170.21
17 |E Bf| 22,708 | 102.65 1 |E | 212.658 | 98.97 19 [E & 1751 96.69 20 [E B 6,089 | 106.77
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kR | (B8 MBI E EE T4 18) AUMBEHEEETI x 100 % X 13%-2 RIREBIDRASHE—R
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i | Rrae| smn | V| | mn |mmras| san | TR | | mn |meas| san | TR | | e |gess| pan | M
(M) (%) (M) (%) (M) (%) () (%)

- | BT # &| 361,676 98.32 - |/ BT A & 195,721 10545 - | BT # &| 142,968 90.64 - | BT # E| 22,987 93.71
5 |K 4 | 392919 105.12 X 4 | 236,263 122.36 10 [X 4% 71| 131,533 84.65 5 [ K & ™ 25,122 99.25
1 [A K | 547,070 121.19 Al B | 326,890 1 115.24 3 |Al mF | 193,357 140.46 4 (B FF 26,823 89.17
6 |[& £ | 388,147 100.74 16 | F ™ 81,673 58.73 1 |& & | 284,755 12560 1M | F W 21,718 7 111.30
8 |B M | 367591 79.45 10 |B H | 172,031 67.41 4 |B H | 176,577 98.23 1 B H ™ 18,983 68.59
12 [#&£ 18 1| 292,879 95.59 £ {8 | 172,358 | 132.56 13 [ B ™ 95,528 63.26 6 [/ B ™ 24992 98.64
3 | # | 486,771 90.28 A # | 325278 95.43 B3 # 1| 131,726 76.50 2 B # ™ 29,767 | 113.87
4 |EZ X R | 419856 | 140.68 AR W 313,169 | 176.86 17 | ARM™ 83,060 79.27 7 [EARM™ 23,627 1 142.35
7 |*r B | 384,205 94.34 12 |¥ B 7| 156,493 81.95 2 | B | 211,828 108.20 15 |f B ™ 15,884 71.34
16 |B%5SHM| 215438 66.46 14 |[2#&5HAM 99,067 61.81 15 |2&aEm 88,700 66.24 3 |2kEEm 27,671 92.31
9 |#¥ &F w| 352,137 85.10 7 |#% & | 188,779 78.50 7 |¥% ¥ | 140,902 91.67 8 | E ™ 22,457 i 11465
14 [+ 4& 71| 263,180 75.99 13 | & | 154,772 87.31 14 [+ & ™ 93,565 64.89 16 [F & ™ 14,844 59.69
2 [ S #f| 543,480 498.29 1 |88 5 #| 404,633 #DIV/0! 8 |tE B #| 132,853 149.52 18 [ & # 5,993 29.64
17 |8 & H&r| 208,393 64.44 18 (B H 34,968 20.63 6 |B & HEr| 141,455, 108.89 1 (B H H 31,970 ; 133.59
18 | E HI| 139,229 75.42 17 | E HEJ| 41,633 81.12 18 [ E HT 75,807 66.57 10 (h E HT| 21,788 ; 11227
13 |}A ¥ H1| 276,980 75.50 11 |} ¥ HEr| 170,956 | 105.37 16 [ X HT 86,511 49.50 12 (R ¥ H 19,513 65.40
15 |B®KXEHH| 262,335 80.13 15 |B&KXEHH 96,962 85.95 5 |2#%KXEW| 143,220 75.17 9 [BBRXEM 22,153 92.24
10 | 7 T| 348,452 135.35 6 (B I 199,092 162.21 11 |B # | 130,751 115.65 14 |8 1 18,609 85.94
11 |E & | 295556 136.44 8 |E ® | 184,895| 22567 12 |B ® ™ 96,773 82.97 17 [B ® 13,888 76.95
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